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SCHOLARS ACADEMY

1.

a)

c)

a)

c)

a)
c)

a)
c)

a)
c)

General Intelligence and
Reasoning

A girl walks 3 kmEast starting from her home. She
then turns South and walks 2 km, then she Surns
West and walks 7 km, then she turns to her right
and walks 2 km. Where is she now from her starting
position?

TP A U TR A YRY & 3 f6.dft. d 9t 8k

Tadt 81 bR 98 3féror &t 3R oo 2 . Tad

2, fhe a8 ufdm &t iR ge@e 7 v ). Tadt B,

98 U qife SR oo 2 frA. et 31 yRfve

R A sm TP W o2

10 km to the West from b) 4 km to the East from her
her home. 39&% &R ¥ 10 home. 9% TR ¥ 4 far 1t
o, uRm o &

10 km to the East from d) 4 km to the West from
her home. 39&% &R ¥ 10 the home. 39® W I 4
& gd @t ok fob 1. ufZm &1 ek

If A @ B means A is father of B, A# B means A is
sister of B and A ! B means A is son of B, then what
does E @F ! G #H mean,if His male?
gfeA@BFASRfF A BHTUGI®, A BT S §
oA B TEITIRA BT AR F A BHTTE,
TME@F!IG#HHPTFNIT T AR H TH U ?
H is brother of E/H, E @1 b) H is E's wife's brother / H,
E &1 Uil &1 4TS &1

His son of E/H, E wgsr% d) None of these g—.-rﬁ[ @[?ﬁg
Iar

If 45 @ 23=14,76 @ 22=17.then find the value of 55
@ 10=?

Tfd 45 @ 23 = 14,76 @ 22 = 17, A1 55 @ 10 T AL
RIGK I E

8 b) 11
15 d) 5
In a certain code language, 531 means 'boy is shy’,

346 means 'girl is bold’, 256 means 'shy or bold'.
Find the code for 'or'.

et B uTar &, 531 BT 31 'boy is shy'? , 346 HT
313 *girl is bold’ 8, 256 FT 31 'shy or bold' & "or' ®T
PIS A DX |

1 b) 2
3 d 5
If PROXIMAL is coded as KILCRNZO.then how wiill

WHY be coded as?
gfe PROXIMAL & f53dt H18 & KILCRNZO ferar sirar

2, df WHY &1 3t i | &1 ferar simeem?
DSB b) EDC
CDE d) BNM

6. In the given series one word/one term/one number
is missing. Select the correct alternative from the
given ones that will complete the series.

TS IgPd foar T §, o te use/ue e / T
T g 81 R e fawe & 9 98 Ol e gie

Y P H Bl RT B

23, 29, 2,37,41
a) 30 b) 33
c) 31 d) 35

7. Which of the following terms follow the trend of
the given list?

Prafiad 3 § B9 W 1g & T qf ¥ i @

STV BT 87

ABC, BCAB, CABCA, ?
a) BCABCA b) CABCAB
c) ABCCBA d) ABCABC

8. In the question two statements are given, followed
by two condusions, | and Il. You have to consider
the statements to be true even if it seems to be at
variance from commonly known facts. You have to
decide which of the given conclusions, if any,
follows from the given statements.

Statement 1: All huts are made of mud.
Statement 2 : Things made of mud are not strong.
Conclusion I: All huts are strong.

Conclusion Il : Mud huts are not strong.

Uy ¥ & $Y9 e T g e M g s 1 & 11
e T €1 3mue) AT 8 7P SN Py g g 3R
I8 9 3id a9 i udia gia 81 iUt
fofa 31 @ 79 few e feeef & @ dF-A/eF-9
fAf¥a ©u § Sy gR1 TS N1 1 gwar 8/9ea
g e s g
FY 1: 9t ufsar At ¥ a1 8
By 2 : gt A o+t g5 i ot Fi worgE T Bt
forsd 1 - it sufSar aoga @1
freed i : ﬁﬁﬁﬁﬁ@uﬁmwﬂ'&ﬁ%l

a) Only conclusion | b) Either | nor 11 follows a1 <
f%onows/é»—dr«rﬁmo‘sfmﬁ f=py - gl g a1 Y ey

I

c) Neither | nor Il follows 9T d) Only conclusion Il

d ey | gEt ' M E follows/pad ey 11 gt
oy | ?

9. In a group of 15 people, 7 read German, 8 read
Spanish, while 3 of them read none of these two.
Find how many of them read German and

Spanishboth ?
15 < & e g & 7 G o TEd & 8 @
P R AU N A NN

B | J1d B 5 577 @ fpaqy di sl i e

a) 1 b) 2
c) 3 d) 5
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SCHOLARS ACADEMY

10.

a)

c)

11.

12.

a)

c)

13.

Which of the following diagrams representthe a
relationship between Engineers, Software Engineers
and Chemical Engineers?

fafafaa & 9§ $19 91 3@ IoiifAwR, AiwedwR
FolifaR iR Ffed SonfamR & S Jay gxifar 82

)

d) @_
Which answer figure will complete the pattern in
the question figure?

fFafafEa & ¥ s IR el uy ompfa &
Uiy B g1 B

N

E- b)

E- d)

From the given answer figures, select the one in
which the question figure is hidden/embedded.

A
Al

N\ /1
b)

d) =i

In a mirror is placed on the line MN, then which of
the answer figures is the right image of the given
figure?

gfe v qdur w1 MN ¥@ET W R@T 9E q & ¥ IR
arpfadt & ¥ HH-| erpfa vy pfa &1 TH
wfafara grilz

a)

<)

14.

a)

c)

15.

c)

16.

a)

c)

17.

a)
c)

18.

a)

c)

S —
-;_'_ —

0

A

& 0

In the given series one word/one term/one number
is missing. Select the correct alternative from the
given ones that will complete the series.

P g fan man B, el te ww/ue ve/ W
T g 81 i e fiwe & 9 98 O e g
S P H Bl RT B

LJ, HF?

E b) G

D d) |

Select the odd word/letters/number/word pair
bumber pair from the given alternatives.

e U faeredl A 4 fauw weg/3ieRi/AEn W

/BT G B gl
kilometres/fdaHTex b) feet/Pc
grams/JH d) micrometersﬂ:ﬂgﬁw

Select the odd word/letters/number/word pain
number pair from the given alternatives.

Ry T e & ¥ Qud I=/3deR/AE) T
H/EEIT g B gl

7531 b) 2468

9753 d) 8642

Select the related word/letters/number from the
given alternatives.

Red : Colour :: French : ?

R W e & & wiltm wreg/smeRlHEn ot
Bl

AT : T : : Wi : 2

foreign/ﬁ?{iﬂ b) language/HTST
European/@tﬁﬂﬁ d) Country/é-‘ZT

Select the related word/letters/number from the
given alternatives.

@t M foran d ¥ Ydfta wrsg/sieR/A=T B

gl

FGI: HIK:: STV :?

uvw b) VWY
XYz d) UVX
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SCHOLARS ACADEMY

19.

a)
c)

20.

a)

c)

21.

In the given series one word/one term/one number
is missing. Select the correct alternative from the
given ones that will complete the series.

TS 3JHH four T B, R ue /P e/ @
@ g 81 fRu e el o | 98 9dl faww gihg

St P H Bl RT B
-2,1,5,2,16

9 b) 10
11 d) 13

In the question a statement is given, followed by

two arguments, | and Il. You have to consider the

statement to be true even if it seems to be at

variance from commonly known facts. You have to

decide which of the given arguments, if any, is a

strong argument.

Statement : Should teachers be permitted to unruly

cane children?

Argument | : No, this will teach them physical

violence is an acceptable means of social behavior

Argument Il : Yes, children taught in a strict

atmosphere are more successful.

Uy # T HyF fear T g P emi g adb | & nfew

T &1 3P AT 8 % $YT T I8 98 A=

Fra awt & fid wdia g 811 smuet fofa e B

:;éﬁgiTﬂzEﬁﬁfffii?ﬁTH?TDRﬁTHZi#?ﬁ%‘Tﬁﬂ§?f?§ afe

|

FYF : T JUGA! gl & g gt o) TS o1 T

P Pt AT ST ATfRw?

T | : Te, 39 S0 ug e frenft i Tmfifves fam

WA R H 3R g

%-.; %I 1, 9% qararl § Rifga s it awa
|

only argument Il is b) neither argument | nor Il
strong/ FHad ab Il Holgd is strong. I @ ab | SR
g A& b || Ao ®

both argument | and Il d) only argument | s

are strong aHl b | 3R I strong/eddd db | Holdd
AoEd & i

In the question the question a statement is given,
followed by arguments, I and Il. You have to
consider Statement to be true even if it seems to be
at variance from commonly known facts. You
havedecide which of the given arguments, if any, is
a strong argument.

Statement Should local train tickets be!
subsidized?
Argument | : No, In an evironment where locals

trains are overcrowded, subsidy will worsen the
situation.

Argument Il : Yes, Local trains reduce number of
vehicles on the road, thus reducing pollution,
reduce costs and travel time.

vy 7 T YA fear mar @ e sm @t ad 1 & n feg
T g1 AMUP! AT § fF $Y9 9 g1 9 98
AT 1d aa) ¥ fia udta giar g1 smus! fAvfig

a)

<)

22.

a)
<)

23.

a)

c)

24.

a)
c)

25.

a)

c)

w3 ¢ 5 Ry T e & & a1 ayea-d 76

& 1 : T, Q@ﬁ@lﬁﬁﬁﬂ?ﬁﬁéﬂaﬁw
T R, Te o 4 FRURY 3R aifrs farrs waelt B

aF 11: BT Apd 9 A SH! W aTgl &1 JBI HH
gt B, U UgUU HH RN, A § HH gl o
YT BT HHY Ht T2

if neither argument | nor b) if only argument Il is
Il is strong g ATl d | strong. g Had dd
3R A1 € 9 || Hogd & TorEd Il B

if only argument | is d) If both argument | and Il
strong. are strong g qHl db |
EESOE R 11T §

In a certain code language'+'representet’ x','-'
represents’'+'," x' represents'+'and'+' represents’'-'.
Find out the answer to the following question

el His WToT &'+ BT A 'x' §, - 'BTHAA '+ B,
X' PTAIAS '+ § AR '+ "HT gaaq - g1 FufatEa

UY & IR DI 910 P 0.0625 + 800 - 234 x 6
=?

11 b) 89

1.25 d) 66

If the the letters E, D, X, S, P & O are numbered 1, 2,
3, 4, 5 & 6 respectively. Select that combination of
numbers so that letters arranged accordingly, form
a meaningful word.

gfg 3I&R E, D, X, S, P 3R O HHTM: HWSA 1, 2, 3, 4,
5 3R 6 @ UGRid F3a g1 HEmei & IR Fae=
P A AP ITP AR H&RT DI AT FH W

3refguf 2rsg 51
3532143 b) 1356412
6121341 d) 4321242

If DISCERNS is coded as WRHXVIMH, then how will
AGO be coded as?

gfe DISCERNS® il ®s § WRHXVIMH feran
W4T € 9 AGO P I Fie # &1 forat simeam?

TGB b) BGT

DFG d) ZTL

Which of the following Venn diagrams represents of
relationship between Lions,Deers and Carnivores?

F ¥ -9 a9 R ™ R ek
ARGl & S g gudr 82

=5
D

O

A
©
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SCHOLARS ACADEMY

26. Find which word cannot be made from the letters
used in theword : INCREASINGLY
INCREASINGLY ¥ Wgad &Rt & Frafafaa & @ -

T Yreg g} I9TIT ST bl 2|
a) SINGLE b) ARISE
c) UGLY d) CRANE

27. P, Q, R and S are four friends. P, is shorter than Q
but taller than R who is shorter than S, who is the
shortest amongall ?

P,QRIRSIRAFAZ Ip, QA BleT? g RA TIT
TP S A BT A BT HHAR?

a) P b) Q

©) R d) s

28. Sukanya remembers that her brother's birthday is
after fifteenth but before eighteenth of February.
Whereas her sister remembers that her brother's
birthday is after sixteenth but before nineteenth of
February. On which date in February is Sukanyas
brothersbirthday ?
gHT P UG % 5 IUF IS FT Al WAt |
T8 & 915 3R 3BRE & Ugd ¢ | IAP! 951 B 1g
g fr SuF Ui &1 FT wRad d Wiag & 91g
AT ST F ugd 31 WA I B ;Y B
ISP HTE FT TG 82

a) 16th b) 17th
c) 18th d) 19th

29. 136 vehicles are parked in a parking lot in a single
row. After the first car, there is one scooter. After
the second car, there are two scooters. After the
third car, there are three scooters and so on. Work
out the number of scooters in the second half of the
row?

136 T1E-11 B TP UIHIT I W TH Ufad § 341 S1an
21 el R F UYTq TP Wpex, O3 R & UYT 2
Wer, IRt PR & UYTq o9 e 341 9 A M
qP 3@ orar 21 el ufdy & g Tpe! B Wwn
frait &2

a) 60 b) 63

c) 65 d) 68

30. Five friends are sitting in a row. T is on the right of
Z. N is on the left of Z but is on the right of L. T is
on the left of K. Who is sitting first from the left?
urg fi T Har A 98 g1 T, "2" & grit 3R g
"N", 2% arft 3R B frg "L F i iR 81 "T", K&
T 3R §1 91¢ | YUH VI TR DI 981 §?

a) T b) L
c) K d) N
Mathematics

31.

32.

a)

<)

33.

a)

c)

34.

a)

c)

35.

a)

c)

36.

a)

c)

37.

a)

c)

YR & STl MR F-wIMG USRN & Afqem &)
e g ® eflas frar man 32

Which Schedule of the Constitution of India lists the
States and Union Territories of India?

Ugal Sl First b) A Sl Second

schedule schedule
dd SEgAl  Third d) IR SEEET  Fourth
schedule schedule

YRA & AfIU & AR et =madi=r &1 e 3=
Y ¥ R 9 Uad § RIMFEANG o319 8g
5 arftrpd fovar T @2

As per the Constitution of India, who is authorized
to transfer the Judge of the High Court to another
High Court?

URA & T AR The b) THHT  3(e4& The
Chief Justice of India Speaker of the Lok Sabha
HRd & IPUd  The d) HRd & UYFHA The

President of India Prime Minister of India

YRA & AU § 09 &1 Waadl (6 gwdg & dgd
gifda ot g 2

Which article of the Constitution of India ensures
the freedom of the press?

3TEE 15 Article 15 b) SIS 17 Article 17
TG 19 Article 19 d) TG 21 Article 21

o o & uga difaw o &2

Who was the first Tirthankara of Jainism?

HEAR Wl Mahavir b) SIISIAATY Ajinath

Swami
FYYCT Rishabhdev d) UIRIG-TY Parshwanath

UERTSIRTS P IUTR A7 I1aT TUH T ATHS DI
um?

Who was the first Gupta ruler to attain the title of
Maharajadhiraja?

I UYH Chandra b) IHKIW Samudragupta
Gupta - |

PHRIW Kumargupta d) ¥h-Itd Skandagupta

TG & g5 | Ygwg TN g1 fufafea # & fow
TSI Y URTfora faam war 4

Which one of the following kings was defeated by
Muhammad Ghori in the Battle of Chandawar?
GdRTST 16 Prithvi Raj b) 19 = Jai Chand
Chauhan

Y 11 Bhima Il d) $HRUE Kumarpal

1857 ¥ fasie & IR TE1gR e A fFd wee-u-
T §EIgY’ &1 Raars faar ur?

Who among the following was bestowed with the
title of 'Saheb-e-Alam Bahadur' by Bahadur Shah
during the uprising of 1857?

:TF-IH:IT%H Nana Saheb b) forforg sifer Birjis Qadir
§%d ™I Bakht Khan d) drar e Tatya Tope
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38.

39.

a)

c)

40.

a)
c)

41.

a)
c)

42.

a)
c)

43.

a)

c)

44.

a)
C)

Who among the following was the President of the
Central Legislative Assembly in August 1925?

3R 1925 H FEH faumauT &1 ey fRgfafaa o

LR

H1.3MR. G C.R. Das b) HIdMA  "8®  Motilal
Nehru

TH.3R. TR M. R. jaikar d) fASAUTS USH Vitthal bhai
Patel

T8 feweht & smuifora gfgar e sfiies Afg=lRm

2023 ® ufgen vwa &1 Raame fa siar

Who won the women's singles title in India Open

Badminton Championship 2023 held in New Delhi?

T RE=T N Seong by didh ﬁl’ﬂ P. W
Sindhu

d) THfBT T Chenging
Chen

HHHIAMERE Akaneyam

aguchi

fFrafafea § 9 armvsa 91 oF-9 wva a1 ¥aR
B WG T 22

Which of the following layers of the atmosphere
makes Radio Communication possible?

&S Troposphere b) €IGIHSA Thermosphere
3IITHSH lonosphere d) YHAUHSA Stratosphere

gfaror SAR®T & Aw-SigiRiig U & #Ae™ &1 T
T 82

What is the name of mid-latitude grassland in South
America?

U3 prairie b) U Pampas
3T Weld d) U Steppes

Teren M Sa-fagga uRkaer fFa sayue w®
fRasg?

Mahatma Gandhi Hydropower Project is situated on
which waterfall?

g5 Hoodaroo
ST Jog

b) U”IDRT Pykara

d) Rrawgsy

Shivasamudram

frufifed # @ fFw uerst w gdf ure, o ae @
firercht &2

At which of the following hills the Eastern Ghats

join the Western Ghats?
A UgTel Palani Hills ~ b) HRGRRI TgIat
Mahendragiri hill

d) [RE UGSl  Shevaroy

Hills

ARt gsTST Nilgiri Hills

f5d 5T & JATUST YaU WIS B JUTY a5 a7
F SATUST YaE- PR 2023 F g -1 Tar 82
Which state's disaster management authority has
been selected for the Subhash Chandra Bose Aapda
Prabandhan Puraskar 2023?

TSR Rajasthan b) TG Tamil Nadu

SIS Odisha d) UfEHET West Bengal

45.

a)

c)

47.

a)

<)

48.

a)

c)

49.

c)

50.

a)
c)

51.

a)

c)

52.

‘wid fawiR g f$T tu ot fSa @ feanr
Who launched the 'Call Before You Dig' app?

% Al Narendra Modi b) ST JuIg Ashwini
Vaishnav
Uiy T Piyush Goyal  d) Ffd ST Smriti Irani

frafafaa & @ af 1952 # smaifora siafre # &
s H fga siiar

Who among the following has won a bronze medal
he Olympics held in the year 1952?

forean Rig Milkha Singh  b) ATHA Norman
B 4G Harish Dhawan  d) .81, ST4d K. D. Jadhav

g A gfeRT mich g foret € g1
"The Unseen Indira Gandhi” is written by ___

3T 3144 Rana Ayub b) Sf&. M. TR Dr. K. P.
Mathur

d) UG Tarun Khanna

HId $HR Bharat Kumar
%mtqa YGaet § TASITHTE BT IGfa =T T
?

What is the full form of 'HTML' in computer
terminology?

TRIRCHE AHIY TS b) TRIRCRE HHSMT idsl

Hypertext Makeup Hypertext Markup
Language Language
BIfISCRE HP3U oasl d) BIIITSCRE HIH3MT elvdel
HybridText Makeup HybridText Markup
Language Language

o9 fosdt sifuforar & wer ugid & sifRfte &1 g9
e, AW ___ pEIErg

When a substance loses oxygen during a reaction, it
is called

&R Corrosion b) U Reduction

JU=H Oxidation d) W&RU YT Iu=EIH gl
Both corrosion and
oxidation

wfaad HRa & gty aferet faaw wa A-Tan oTa 32
When is National Girl Child Day celebrated in India
every year?

21 SFaI 21st January b)) 22 SHaRT 22nd January

23 SFaR] 23rd January d) 24 TSGR 24th January
BISoR Sf$TT 7 AT 4T THE! SR g frd
e frar @2

Who has been appointed as the new MD & CEO by

Pfizer India?
ST AR Leena Nair b) el Aafcr Meenakshi

Neotia

d) Sadt  Icdd Jayshree
Ullal

HRAA W Suge o A Fafafea & 9
e Hiviferes dda & ye P 32

Yadt 3fget Revati Advaiti
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a)

53.

a)
c)

54.

a)
c)

55.

a)
c)

56.

a)
c)

57.

c)

58.

a)
c)

59.

a)
c)

60.

The Geographical Indication Registry of India has
presented geographical indication tag status to
which of the following?

AR JGANT Banglar b) HEEAIYRH  URR  Pi

Rosogolla Mahabalipuram
stone sculpture
CRUEI AW d) gt e I Al

Bangnapalli mango

TP 3¥d v dfed 31 faym srawit A ufa fime
FRARPIIARRE g gl

Normal range of breathing rate per minute in an
average adult person at rest is

9-12 b) 12-18
21-24 d) 30-30

gTa ot # diF feadta fasmw 20 (B20) Efear Hiw 22-
24 a3 2023 F frd e # MATd & TS?

Recently in which city the three-day Business 20
(B20) India Meet was held on 22-24 January 2023?

SR Jaipur b) TSUTH Gurugram
TR Gandhinagar d) Has Mumbai

IW HRA B 2000kWp FI Jad T3 TfeT HR
TR BT IguTe f5a 2 | farar Tar 82

North India's largest floating solar project of
2000kWp has been inaugurated in which city?

SR Jaipur b) TENTG Chandigarh
TUTH Gurugram d) HYRT Mathura

YRA ¥ Ugelt IR ATUTAHTA HF QAT T AT ?
When was the Emergency first imposed in India?

1963 b) 1962
1960 d) 1975

options are correct.

The cells of which tissue are specialised to store
fats?

?Wﬁﬁmwm%mﬁﬁmﬁ?ﬁ

Adipose 98T $HdP
Glandular Ufd

b) Squamousl’l?m'ﬁ
d) Collagen @Icroi

Which is the longest rail tunnel inIndia ?

YRA &1 TaA ol I I B A 22
Karbudefbﬁ% b) Nathuwadi HTW

Pir Panjal OR UeiTdl d) Tike T3

National Security Day is celebrated on which day?

MY TR e R f wreman o 22

1 March 1 9 b) 2 March 2 9
3 March 3 A/l d) 4 March 4 ]
Cotton is cultivated in Northern Indian States

during the ___cropping season.

I YR & Isdl H HUE Dt Gddl.......... PRABIF
SR T It B

a)

61.

a)

c)

62.

a)

c)

63.

a)
c)

64.

a)

c)

65.

a)

c)

66.

c)

67.

a)
c)

Rabi Y&t
Zaid Slq

b) Kharif @%
d) Winter 38

General Awareness

Megasthenes was a ambassador to the court
of Chandragupta Maurya.

TR T M F RAR H ... BT Sigd
YTl

Roman JH4 b) Persian éTFT

Greek A d) Babylonian CEINIERIE
Rameswaram is a city in the state of

AR 2R P TSy & 2

Kerala oh%d b) Karnataka Fled

Andhra Pradesh 3T U= d) Tamil Nadu dfH@HTg

TR % A A TR F Fad 59 TR W, T4
3134 2023 F1 IguTe fHw 2ER A fHam

In which city did Prime Minister Narendra Modi
inaugurate Asia's biggest aero show, Aero India

2023?
SIIYY Jaipur b) aﬂ'&FChennai
w Bangalore d) SfgHaldle Ahmedabad

Which King made Al-Biruni, the writer of Kitab hul-

Hind, ahostage ?

frae-sa-feg & due s@-faet o1 P9 I

TIRT S} o747 74T U™

Timur-i-Lang ﬁ'ﬁﬁ?—Q—ﬁ"T b) Mahmud of Ghazni HgHa
Tt

Genghis Khan EUSECIE] d) Nader shah TR qM8

fay =R e B wTI w9 535 A

When was the World Trade Organization
established?

1967 b) 1995

1983 d) 1975

In the Indian Constitition, as per fundamental
Rights, Abolition of Untouchability is a

YRd & Wiy ¥, Hifere sfiert & gaR gangd

Right to equality ¥HAT ®T b) Right to freedom of
SHYBR religion UTH® TacidT BT
3fIPR

Right against exploitation d) Right to Constitutiopnal

QMU & faeg SR remedy Faue Iu=RY
D1 ISR

WRA B ASTS BT AGH Fel 41?2

Where was the battlefield of Plassey?

38R Bihar b) TdT Goa

3[IH Assam d) Uf3H ST West Bengal
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68.

a)
c)

69.
a)

c)

70.

a)
c)

71.

a)
c)

72.

a)
c)

73.

c)

74.
a)
c)

75.

a)
c)

76.

fay Yeal feaw w9 wamn wimar 82

When is World Radio Day celebrated?

11 BRa% 11th February ~ b) 12 TRaRT 12th February
13 Rax! 13th February  d) 14 TRaXI 14th February

TS 3R A AR 2023 F1 ergea foram oftan
Who won the title of Saudi Arabia Grand Prix 2023?
A REUT Max b) fera et Sergio Perez
Verstappen

WAl @ Fernando d) SiTet X George Russell

Alonso

Capital to the union territory "Lakshadweep” is __
&% MAAT Y "A&ET" PR AFYT ..covee. ?
Pondicherry BlEER b) Kavaratti Al

Daman qH d) Port Blair UI¢ &R

3 el ¥ 5 31 3R 31 afe ITHT T 336 7Y,
A S HEIH HTA S -

There is a difference of 5 in the two numbers. If
their product is 336, then the sum of those numbers
is -

21 b) 28

37 d) 51

3 U 3: 4 & AU | § qUT ST agaud
TJHTIT 84 § 379 I TS H1AT T 81 2

Two numbers are in the ratio 3: 4 and their least
common multiple is 84, what will be the largest
number among them?

21 b) 24
28 d) 84

15/1%:5, 19/20, 24/26, 34/35 # A A BT Fid HIA-
i 22

Which is the smallest fraction of 15/16,
24/26, 34/35

19/20,

34/35 b) 15/16
19/20 d) 24/26

1 1 1
1+2;4(2+3) 2 '3
1 1 °7\5 10 1 1

2 Pl/of 2 3 =2
2/3 b) 3/2
3/8 d 1/2
Vo2 FTTHA S -
The square root of V0.2 is -
0.632 b) 0.447
02 d) 0.02

P, Q 3R R & 3fd Mg R Ft 3y A 5 af ¥ 71
gfe p 3R Q B 3y fyame 39 af B, @t R Tt Mg

a)

c)

77.

c)

78.

a)
<)

79.
a)

80.

c)

81.

a)
c)

82.

c)

The average age of P, Q and R is 5 years more than
the age of R. If the age of P and Q is 39 years, then
what is the age of R?
1239 12 years
16 99 16 years

fosft Wi & @9 -Adurs @1 2/5 Afg 204 B, @
TR FTE?

If 2/5 of three-fourths of a number is 204, what is
the number?

680 b) 985

756 d) 158

{1 F 3y 3R AT B 3y F S BT SFUTEs : 1
21 afg 10 af a1 1 9t ey, T F gt R At 5
o Uget I B 31 i SrgaTer o -

The ratio between Reena's age and Meena's age is
3: 1. If after 10 years, Reena's age was twice that of
Meena, then the ratio between the ages of the two
5 years ago was -

b) 24 TY 24 years
d) 149 14 years

4:3 b) 5:1
1:3 d 3:4

?
2"% x 64 x 8" x 4" = §
2.7 b) 2.5
35 d) 32

A B3R CHIAAT1:3:4 F 3gud ¥ g1 afg 39%
a9 | PHRT: 5% , 10% 3R 15% Bt S I 9, @t
I ¢ gU da- pw Srgurd § g1 2

The salaries of A, B and C are in the ratio 1: 3 : 4. If
their salaries are increased by 5%, 10% and 15%
respectively, then in what ratio will their increased
salaries be?
20:66:95

21:66:92

frelt smeft A uw dAreR 450 T Y WA qUT 3/
I9P I e & 10% & SRIEX 1Y AP 4T -
qTeR &1 faspa Jeg o1 -

A man bought a sheet for Rs. 450 and sold it with a
profit equal to 10% of its selling price - the selling
price of the sheet was -
460 U 460 rupees

480 TY 480 rupees

b) 21:66:95
d) 19:66:92

b) 475 T Rs 475
d) 500 U 500 rupees

A TUT B B 3T BT 3UTd 3R B TUT C Bt 31T BT
JUTA3 : 2 B GGI9R, i A B 3y &7 fagTs um, ¢
F T F DU YT A 1000 F. ARUF 7, A B F
3y fpa-t g2

The ratio of income of A and B and the ratio of
income of B and C is 3: 2. Accordingly, if one-third
of A's income is Rs 1000 from one-fourth of C's
income. If it is more, then B's income is

3000 b) 2500
2500 d) 4000
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83.

a)
c)

84.

a)
c)

85.

c)

86.

a)
c)

87.

a)
c)

88.

TR, fHvor 3R fH2MR 3 Tw g™ HH=T: 27000 3.,
81000 ¥., 3R 72000 ¥., AHR Wit , TH A & 3id
H a1y i1 # afer a1 afg fevor $1 @y -3 36000
3.8, d oo a1H IS 8N -

Coincidentally, Kiran and Kishore opened a shop by
putting in Rs 27000, Rs 81000, and Rs 72000
respectively, with the profit at the end of one year
divided into three. If the gain of the beam is Rs
36000., Then the total profit would have been

80000 b) 98000
108000 d) 116000
gfg 25 3wl fret &t 3 27 4 & AT B, T 15

3MeHt 59 H1d B fHaq IHY A THTW H GH ?
If 25 men finish a work in 27 hours, then in how
much time will 15 men finish the work?

45 °2 45 hours b) 48 ©¢ 48 hours
78 ©2 78 hours d) 96 H¢ 96 hours

I 3R ¥ free st w1 3t 10 fGT § g1 wva
B 31T 3ibal 36 P DI 20 faT A HX APar g 91 W
BT 39 BT B fhaq feT A R 2

Raj and Ram together complete a work in 10 days. If
Raj can do that work alone in 20 days, then in how
many days Ram alone will complete that work?

20 &1 20 days b) 40 f&7 40 days
50 &1 50 days d) 60 f&1 60 days

g1 9 A 3R B {5t §i1 o s59=T 10 U2 AT 15 9 A
WR IHA § A B TE Y @Il 9 | @
Wt B B 4R | fha-1 w9d @R 2

Two taps A and B can fill a tank in 10 hours and 15
hours respectively. If both are opened together in
an empty tank, then how much time will it take to
fill the tank?

6 T 6 hours b) 7 ©¢ 7 hours
8 ©c 8 hours d) 9 €< 9 hours
4L
P Afad , ot UgTS! & oA & orgfemr 2 faelY /der

B 9T | 9UT <A Bt faudia fezm & 3 fpedt 7 der )
AT N I Pl 8 , UgTSl & HUR ATh arud 30+
YRTUE I W 5 62 H 311 §1 9% UgTS) W e
SIS dF TeI?

1

A person, who can walk 2 km / h along the slope
of the hill and 3 km / h in the opposite direction of
the slope, will go up the hill and come back to its
initial place in 5 hours. is. How high did he climb the
hill?

13.5 fT 13.5 km by 3 fabHl 3 km

15 fHHt 15 km d) 9 fHH 9 km

72 f&H. 7 "ver F I1d F I A W7 G 60 HieR
T YerTTS! U faeTelt & @ oY fpant R &R @l

a)

c)

89.

a)

c)

90.

a)

c)

91.

a)

c)

92.

a)

c)

72 km / How much will a 60 meter long train going
at the speed of an hour cross an electric pole?

4 YPUS 4 seconds b) 9 JPHUS 9 seconds
3 JHTS 3 seconds d) 8 JPHUS 8 seconds

1
11-
T NP URT & e 4 e o 374 5. g&
1

7=
T Y1 g A4T qBF | At 2 fie # wRfie
?‘gwu‘g’a T 8 W o A R Bt gra fpan
?

11l

4 in minutes 3/4 km against a swimmer stream.
The distance covers the distance and from there it

1
7=
reaches the starting point in 2 minute. How
much is the swimmer's speed in the calm water?

2 fedt/guer2km/h b) 3fdbdl/gueI3km/h
4 fortlt/ g€t 4 km / h d) 5fHdl/gmerskm/h

fRufve ok 5@ & 20 o fayor & 10% oa 31 feft
Ff¥a a7mn # SO SR 5 freiam oia sTea R Y
forsror 31 g9 25 {39 g oiman 31 ¢ fyor § 59 $
wfcrraar foat 8 2

A 20 kg mixture of spirit and water contains 10%
water. By adding 5 kg of water in a certain quantity,
the weight of the new mixture becomes 25 kg.
What is the percentage of water in the new
mixture?

12.5% b) 15%
18% d) 28%

1550 $.31 TP YRI s U F 5% 3R 8%
i Pt = | ATYRT TSl U= TS St g1 3 quf
¥ 91¢ TS & FU H A 300 F. U gUI 5% 3N 8%
P g W TS T AR BT U B -

Rs 1550 A corpus of Rs.1000 is levied at simple
interest at rates of 5% and 8% per annum. After 3
years, a total of Rs 300 as interest. Were received.
The ratio of the amounts charged at the rates of 5%
and 8% is -

5:8 b) 8:5

31:6 d) 16:15

forit A wR &Y auf & e wwpgfs =TT 40.80 .8
TUT ATYIRUT TS 40.00 . & , & Ufa=Td &< & qd
P -

Compound interest on an amount for two years is
Rs 40.80. And the simple interest is Rs. 40.00. If,
then find the percentage interest rate -

6% b) 4%

8% d) 45%
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93.

a)
c)

94.

a)
c)

95.

a)

c)

96.

c)

97.

a)

98.

108 HeX T AT BT TG I T & §APd &
IR g et ylds yar 72 ez @vll § - smaa #t
Hrerg fbait gt 2

The area of a rectangle 108 meters long is equal to
the area of the square whose each side is 72 meters
long - what will be the width of the rectangle?

36 HIeX 36 m b) 37.5HcX 375 m
42 HleR 42 m d) 48 HieR 48 meters

A vendor buys oranges at Rs. 2 for 3 oranges and
sells them at a rupee each. To make a profit of Rs.
10, he must sell:

@ fapar & 2 # 3 @ Tlear ? R IR @
FTR PRI ITIAT SN F 10 $ 1Y & fIQ, B!
ST IS

10 oranges /SR

30 oranges / Ta¥

b) 20 oranges / TR
d) 40 oranges / TR

The average score of Sehwag in 10 innings was 77
runs. In the 11th innings he had scored zero runs.
The overall average score of Sehwag in all the 11
innings was:

WEART B 10 UIRGY FT 3T THR 77 7 AT IFA
1d ot & 3 7 g0 JgarT s @it 11 wifeat
T 31 TR YT-

77 b) 7.7
11 d) None o_f these / 380
PIS ol
o
sech + tanb BT A T S -
1
What will be the value of sect +tanf
secB b) tan®
sec - tanb d) cotb
ofe fafafaa srefa & eife e Ayst ABc & AB =

AC 3R2ACD = 120° dt 2 A s RTER § 2
If AB = AC and 2ACD = 120° in the triangle ABC
shown in the following figure, then 2£A is equal to

A
120°
B WA e D
50° b) 60°
70° d) 80°

( QUES : 98 - 99 ) Bar diagram showing the effect of
literacy drive within both sexes in 5 units. Study the
bar diagram and answer.

5 gfvel ® gl fo & WfiaR angRar &1 yuTe oA
TR 3 SR a1 T 31 8 SIRW BT 3eAdT T
uai BT IW |

a)
c)

99.

a)

c)

100.

a)

c)

Men Women

e Eairraned
400+
350+
- 300
§E 250+
&% 200

°%

S E 150
}§ 100 +

50+

U-1U-2 U-3 U-4 U-5
Unit / gieie

Difference between number of males in U-1 and
number of females in U-5 is :

U-1 & =0 Ft e 3R u-5 ¥ afgars 3t wen &
o 3R 8-
270

225

b) 50
d) 320

The percentage of malesis U - 4is:
U - 4 ¥ g&1 o1 wfera 8:
50 b) 55

350 d) None of these / 3T ¥
6 % BIs a1

The perimeter of the base of a right circular cone is
8 cm. If the height of the cone is 21 cm, then its
volumeis :

U 99 g WP & SMYUR T uR¥T 8 It 31 afg
39 AP o1 Fars 21 AW 8, A ITPT A B :
108/11 cm? b) 108w cm?

112/ cm? d) 112mem?
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